Jogoogogodod

oooo OO0o00oOoooooooon
oooo OO0o0o0O0oOooDooooo
0od .00/0
oo oot
11
11
gogg Joooobodoodo2e-e0 0 1-10-40
ooono 13998125159 13624067366
O00dn

guooooobbood

guouoobbgoooooobogoooobobobboooobobbouooooboooo
gobbobbboogoooboboobbodooouoboobbobouoooooboobo

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guoduobbbbgoooooobogooooobobbuouoaa

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobbobobobooooooobbobbbodoogoobbobbbooooobbbbboooog
H

guoduobbbtbooouobbobboooouobooisbgoooouobbbooooooboon
gobbobbbuooooobbobbtbodoooobbobboooad

gooo gggbobobobbbodooooobobobbooooooobooboobobooda
goobbobb24000000ubbobboo2ouboooobbobbood
goobobbuoooooobbobobbuoooon

gooo goobbobobbooooooobbobbtboodoooobbobobbogo
gogobobobbbodoodooboobboddoooobbooboobbooga
0

goon gogobobobbbodoodooboobboddoooobbooboobbooga
goobbobobbooooooobbobbtboodoooobbobobbogo




goobbobbouooooobbboboodgd

gooo

goobbobbboooooobbobbbdoooouobbobbood2sy
gobobbobbooooooobbbobboooooobbbboogo

gooo

goobobobbboddgoooobbobbbogogsooobooooboood
gobobbobbboudgoooobbobbooooooobobbbooado
goopbobobobbodoooooboobbbodooooobbobobboga
gooboboboboodago

gooo

goopbobobobbodoooooboobbbodooooobbobobboga
gobobbobbboudgoooobbobbooooooobobbbooado
goobobobbboooooobbooboboboodgd

gooo

1500000000 oosbn

100 0.26kwx 50 =1.3KW

1.3kwx 10Hr/O x 0.6x 0.5/KW=3.9000 /O

3.9000 /O x 3000 /O =117.0000 /OJ
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